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Question Number : 1 Question Id : 7715134296 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B A & 9 & R, Wt W B L gl iy
For a good quality brazing, the molten filler alloy should have

2) O & WY P W BImLow contact angle with the base metal
b) {9 TFLow density

¢) o g adHigh surface tension

d) o WHdHigh viscosity

Options :
1.a
2.b
3.c
4.d

Question Number : 1 Question Id : 7715134296 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B T & 99 & e, At W R E L gl iy
For a good quality brazing, the molten filler alloy should have

a) O & W W BILow contact angle with the base metal
b) {9 FILow density

¢) J«d U§ ddHigh surface tension

d) o WHdHigh viscosity

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134297 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



&1 T R W 41 B & o & SR, w9V, 31 50 AR, 100 . ¥ s T
3TR 1 100 i, 3 e v 25 o, g1 o1l 1 3¢ 80 ot et o efeicpe fovan o1 , f iR
1 o el i

During tuming of a metallic rod at a given condition, the tool life was found to
decrease from 100 min to 25 min when V. was increased from 50 m/min o
100m/min. How much will be life of tool if machined at 80m/min?

a) 38.06 /min b) 39.06 . /min
c) 4006 i /min d) 41.06 1 /min

Options :
1.a
2.b
3.c
4.d

Question Number : 2 Question Id : 7715134297 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

&R TR0 7 a9 o @ & SR, 59 Vi 1 50 R, 9 100 e, 1 e T 7
TR 919 100 7, 992 8 25 o, g1 ot e 80 . o i fovan o1 8, o
@l o e g

During tuming of a metallic rod at a given condition, the tool life was found to
decrease from 100 min to 25 min when V. was increased from 50 m/min to
100m/min. How much will be life of tool if machined at 80m/min?

a) 38.06 f/min b) 39.06 1 /min
c) 40.06 fF./min d) 41.06 fF/min

Options :
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134298 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



CARIICE S & {0 ST JU=R URkdr §
Ageing is a heat treatment operation for

a) Uidad @I ®H &-/Relieving of stress

b) UMY Bl de/Increasing strength

¢) UMY & HH H/Reducing strength

d) HRAH”Al URA/Improving machinability

Options:
1.a
2.b
3.c
4.d

Question Number : 3 Question Id : 7715134298 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PIRIUHET .. ... ... & U S IUER URedAT 8
Ageing is a heat treatment operation for

a) Ufded @I HH H/Relieving of stress

b) UMY ®I de/Increasing strength

¢) UMY & HH H/Reducing strength

d) HRAH”Al URA/Improving machinability

Options:
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134299 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9 daf # ¥ IH-T1 3ReEe WHieR! T8l 82

Which of these elements is not an austenite stabilizer

a)  ®Ie-/Carbon b) HTHE/Manganese
¢) fIda/Nickel d) BIfFEE/Chromium
Options :

1.a

2.b

3.cC



4.d

Question Number : 4 Question Id : 7715134299 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g gl § ¥ $H-T1 e WEieR T8 2

Which of these elements is not an austenite stabilizer

a)  ®Ie-/Carbon b) HTHE/Manganese
¢) fIda/Nickel d) BIfFEE/Chromium

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134300 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

urge & dw HHT H, fawue ... ... oIl §

In hot working of metals, the deformation is carried out

a) Ud: fheeciidRul diUAH & -id/Below the recrystallization temperature
b) U fheedidRu dUHH & HU/Above the recrystallization temperature
c)  Td- dUHMF YAt melting temperature

d) @ded 303 K dIUHF TV/At temperature around 303 K

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134300 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

urgell & d Uu o, fawgo L. gidl &

In hot working of metals, the deformation is carried out

a) U foheccidu dudH & id/Below the recrystallization temperature
b) UA: fhteciidRul diUAH & HU/Above the recrystallization temperature
c) T dUHME GYUAt melting temperature

d) @ddd 303 K dIUHE TV/At temperature around 303 K



Options :
1.a
2.b
3.C
4.d

Question Number : 6 Question Id : 7715134301 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fo-d DoRdl e (dlwE) L. .. @1 U ©

Brinell hardness number (BHN) is the ratio of

a) Gqdal & &7 ¥ §ld W YR /Area of indentation to load on ball
b) dld W HR ¥ did &I &7 /Load on ball to area of ball

¢) dd W YR Y Sl & &4 / Load on ball to area of indentation
d) ©@dl & fd@vi/Diagonal of indentation

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134301 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

foma FeRar 9= (dwEe) L. @1 U §

Brinell hardness number (BHN) is the ratio of

a) Ggidl & &7 ¥ §ld W HR /Area of indentation to load on ball
b) did W YR I did @1 & / Load on ball to area of ball

c) §d W HR 9 E@?ﬁ @ &7 / Load on ball to area of indentation
d) &@dl & fd@ui/Diagonal of indentation

Options :
1.a
2.b
3.c
4.d

Question Number : 7 Question Id : 7715134302 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fFofafed & € fo9 dd ufe § <™ A UWIidd 87 (HAZ) TG 82

Which one of the following welding processes consists of minimum heat affected zone
(HAZ)?

a) ifcsd 41g o deed (T9UATSsY) /Shielded Metal Arc Welding (SMAW)
b) TR fbRU-Gd dwd (Tedigsey) Laser Beam Welding(LBW)

¢) TRYH deed (JU¥ey) /Ultrasonic Welding(USW)

d) o1 fhg T deed (UHSASSl) /Metal Inert Gas Welding (MIG)
Options :

1.a

2.b

3.c

4.d

Question Number : 7 Question Id : 7715134302 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFofafea © ¥ fg deed uia # an I uifad 83 (HAZ) i ge

Which one of the following welding processes consists of minimum heat affected zone
(HAZ)?

a) ifced o o desd (THUAUSSY) /Shielded Metal Arc Welding (SMAW)
b) TR fIRU-Ud dwd (UddlSsey) /Laser Beam Welding(LBW)

¢) WA ded (qu¥ssy) Ultrasonic Welding(USW)

d) g T 79 9= (THeHRe) /Metal Inert Gas Welding (MIG)
Options :

1.a

2.b

3.C

4.d

Question Number : 8 Question Id : 7715134303 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.............. B §RT T TRy I G (WIRSE) @1 URded a1 Sl 8
Pitting Resistance Equivalent Number (PREN) is calculated by the formula

) %Cr+3.3 %Mo + 16 %N

) %Cr+3.3%Ni+ 16 %Mo
) %Cr+3.3 %Mo + 16 %Ni
) %Cr+ 3.3 %N+ 16 %Mo

i

L=

L]

d



Options :
1.a
2.b
3.C
4.d

Question Number : 8 Question Id : 7715134303 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.............. B gRI T WioRly 9 ge (Wi3RSE) @1 URded foar ol 8

Pitting Resistance Equivalent Number (PREN) is calculated by the formula

a) %Cr+ 3.3 %Mo + 16 %N

)
) %Cr+3.3%Ni+ 16 %Mo
)
)

=

c
d

%Cr + 3.3 %Mo + 16 %Ni
%Cr + 3.3 %N + 16 %Mo

Options :
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134304 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafafag § ¥ @9-91 3o faau §q

Which one among the following is sacrificial coating.

a) 39 W Fdd @ed/Nickel plating on Steel
b) UMMTH &1 THifsd fdcitd/Anodic coating of aluminum

c) 3Wd W $SHTY Wed/Cadmium plating on steel
d) $Wd W UHR faedU4/Epoxy coating on steel
Options :
1.a
2.b
3.¢C
4.d

Question Number : 9 Question Id : 7715134304 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fofafag § ¥ $9-91 It faam 8-

Which one among the following is sacrificial coating.

a) 3Wd W FHdd wed/Nickel plating on Steel
b) UQGMMTH &1 THifls® fdcitd/Anodic coating of aluminum
c) W W HSHTY ed/Cadmium plating on steel
d) 39 W Ui faeud/Epoxy coating on steel
Options:
1.a
2.b
3.C

4.d

Question Number : 10 Question Id : 7715134305 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DHE-TT J1H, S IHER & F Afy 7R T3 e

Which media will give most severe quenching in heat treatment operation

a) dd E/0il quenching
b)  ©d TWHA/Water quenching

c) Wd AT & WY U&lH/ Water quenching with agitation
d)  <dUl-wId YHA/Brine quenching

Options :
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134305 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

DH-U1 HIGH, S IWER oM@ H fd TR Tw e

Which media will give most severe quenching in heat treatment operation
a) dd ¥HF/0il quenching

b)  ©d THA/Water quenching

c) Wd IHH & YiY H&liHH/Water quenching with agitation
d)  TdU-ud FHA/Brine quenching

Options :
1.a
2.b



3.cC
4.d

Question Number : 11 Question Id : 7715134306 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

i A w9 @ ST & a4, $6da, [fisr, Mae, %@Taﬂﬁé@&r@ﬁﬁfm
mﬂawaﬂm$mﬁmwaﬂw$ﬁumﬁmﬂ ..........

For establishing a best fit feature for a number of points measured on a feature llke circle,
plane, cylinder, sphere, line etc. using a co- ordinate measuring machine, the principle used

a) IAd9 @ fGGid/Least squares principle
b) Ud Rygid/Abbe principle

¢) ¢¥ RIgid/Taylors principle

d) 99 ¥ I3 TeNone of these
Options :

1.a

2.b

3.C

4.d

Question Number : 11 Question Id : 7715134306 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e aH TH $ 9T W o, I9aa, iR, M, %@T&ﬂﬁma{@ﬁ@rm
A Uise &1 W & I fbe UBR & RIG & fow wed figid ... ..

For establishing a best fit feature for a number of points measured on a feature llke circle,
plane, cylinder, sphere, line etc. using a co- ordinate measuring machine, the principle used

) AaH @ Figid/Least squares principle
) U4 fgid/Abbe principle

) O Rigid/Taylors principle

)  TE% ¥ Bl Tei/None of these
Options :

1.a

2.b

3.C

4.d

Question Number : 12 Question Id : 7715134307 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



& HET Wil (fog W d9) @ e H, @ @R 1070109020 i H. 1§ 8 HER 10
010020 fy 7, B 3 Ul fire H Yy AR &1 SMfiHdn OH L. ... g

In a fit of two mating parts (hole and shaft), the hole size is 107010~020 mm and shaft size is
10010020 mm, The maximum value of possible clearance in this clearance fit is

a) 0.0 .41, /mm b) 0.10 f7.5t. /mm
c) 0.40 .5 /mm d) 398 ¥ @5 Fa/None of these

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134307 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

& A i (B W 38 9 e 7, g der 10700400 B od G5 3R 10
010020 f Y, B g Sl fhe H Yued AR I AfpaH AH L. g

In a fit of two mating parts (hole and shaft), the hole size is 10710020 mm and shaft size is
10-010-0.20 mm, The maximum value of possible clearance in this clearance fit is

a) 0.20 .41, /mm b) 0.10 .5, /mm
¢) 0.0 1.4t /mm d) 398 ¥ @5 81/None of these

Options :
1.a
2.b
3.c
4.d

Question Number : 13 Question Id : 7715134308 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%Euﬁmmﬁﬁﬁﬂﬁwﬁmm@ﬁmﬂﬁ%ﬁﬂ%aﬁ%aﬁ ........ Fed

The operation in which lubricant material is permeated into the pores of a powder
metallurgy product is known as

a)  fBYMixing b) Rfct/Sintering
¢) UUgHImpregnation d) Sfd-e/Infiltration
Options :

1.a



2.b
3.¢C
4.d

Question Number : 13 Question Id : 7715134308 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%suﬁfmmﬁ@%wﬁmm@ﬁmﬁ?%ﬁfﬂﬂmaﬁ%ﬁaﬁ ........ oed

The operation in which lubricant material is permeated into the pores of a powder
metallurgy product is known as

a)  BYMixing b) Rfcx/Sintering
¢) U¥d/Impregnation d) Sid-¥eT/Infiltration

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134309 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR el & A ¥ YR e faeed figid L. 2

The theory of failure generally applied in case of brittle materials is

a) Hf¥UHIH AUETU Ufded RIgid/Maximum Shear Stress Theory

b) ifibdd A& Wided fgid/Maximum Principal Stress Theory

c) HfUbad faPld Bl Rigid/Maximum Strain Energy Theory

d) 3Hfbdd JTEYY faPpid Sl fiEid /Maximum Shear Strain Energy Theory

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134309 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



WR Terdl & AW § 9mEgad v fabad Rgid ... ?

The theory of failure generally applied in case of brittle materials is

a) S AUEYY Yided Rfgid/Maximum Shear Stress Theory

by Hf¥HdH HB Ufdsa R¥gid/Maximum Principal Stress Theory

c) Sifimad fdgfd [Hul fgid/Maximum Strain Energy Theory

d) SifddH ueuu fdpfd el figid Maximum Shear Strain Energy Theory

Options:
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134310 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR P Yo | Fgfafad & ¥ oF-91 9 T8l 62

In a laser cutting operation, which of the following is not true?

a) RUIH o@ ¢ & U dW Fdd M4 VAW UK F Y qedl §
Laser cutting speed ‘V’ increases with Laser power for a given job thickness‘t’

b) Fffd oW widg & Gy O Ted & T T § e o 99dl &

With increased laser power, thicker material can be cut at same speed.
¢) TRl &I TR F $e el ol YPHdrDiamonds can’t be cut by lasers.
d) Toid ®H & Iy BY Bidd DR BIC o Jdbd o

Straight cut edges with sharp corners can be cut

Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134310 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TR P Yo | Fofafad & ¥ o9-91 98 T8l &2

In a laser cutting operation, which of the following is not true?

a) RUIH o@ ¢ & U dW Fdd M4 VAW UK F Y qedl §
Laser cutting speed ‘V’ increases with Laser power for a given job thickness‘t’

b) Fffd oW widg & Gy O Ted & T T § e o 99dl &

With increased laser power, thicker material can be cut at same speed.
¢) TRl &I TR F $e el ol YPHdrDiamonds can’t be cut by lasers.
d) Toid ®H & Iy BY Bidd DR BIC o Jdbd o

Straight cut edges with sharp corners can be cut

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134311 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

19 R o deed H (vicilesy) H, o fqded Wi o & foy fofifed 9 @
YA e §ddl ®1 S giel &

In Gas tungsten arc welding (GTAW) which of the following polarity is generally used for
getting higher penetration

a) f2F YR %9 §aWDirect current straight polarity

b) fCF YR IsPH $[UI /Direct current reverse polarity

¢) UdMEd YRT 3= 3ghy/Alternating Current high frequency
d) Iwad HI/AL of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134311 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



19 4T o ded # (Widugey) H, 9@ ofddud W e o fou Feffed 9
AT e @l @1 JUUM BT

In Gas tungsten arc welding (GTAW) which of the following polarity is generally used for
getting higher penetration

) f&F 4R B9 {@viDirect current straight polarity

) f&F 9RT JebA Ul /Direct current reverse polarity

) Udlddl YR $d 3fdfi/Alternating Current high frequency

) Ifad T/AL of the above

Options :

a
b
c
d

1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134312 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a0 49 @I s & HR-UR HUBYU Uidad &l fqaRor ... ... .. T
Distribution of shear stress across the depth of the beam is?
a)  d@¥dl/Curvilinear b) YRS/ Linear
¢) Wddld/Parabolic d) ©-1g/Cubic
Options:
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134312 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fRU g9 & Ty & HR-UR 3Ueyu Ufdad &l faawor ........ B
Distribution of shear stress across the depth of the beam is?
a)  d@¥@l/Curvilinear b) Y@@ /Linear
¢) Rddilbd/Parabolic d) ©Hig/Cubic
Options :
1.a
2.b

3.cC



4.d

Question Number : 18 Question Id : 7715134313 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS 0 SR B & R0 Ud 4 Hfidan SUEu Hiasd U ofigdd U Hidsd
P13 ...... gl

The ratio of maximum shear stress to average shear stress in a beam of circular cross
section.

a) 34 b) 1/3 c) 1/4 d) 4/3

Options :
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134313 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS T0 S BT & X0 O H JfUdad SUeun Hfded ¥ Sfga e e
AU ...... gl

The ratio of maximum shear stress to average shear stress in a beam of circular cross
section.

a) 34 b) 1/3 c) 1/4 d) 4/3

Options :
1.a
2.b
3.c
4.d

Question Number : 19 Question Id : 7715134314 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 Y9E YR & DRU G B WRY 49 FHA Tl OqOE B
PEd ©

The property of a material which enables it to resist fracture due to high impact loads is
known as

a) Ueed /Toughness b) Yeldl/Endurance
¢) 9MulStrength d) Udrdl/Resilience



Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134314 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Jd GUg HR & DRU faHT o1 IRy dG gHde 9F & oeE &
PEd ©

The property of a material which enables it to resist fracture due to high impact loads is
known as

a)  Heedl/Toughness b) Yeldl/Endurance
c) M-"Strength d) Uddl/Resilience

Options:
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134315 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e UH AN Ud g8 H AE U o fu H wided &1 A7 &l §, o Fufifed 98t
@ YR ¥ ¥ Y9y I0Yad DH-U1 g

If an application demands stresses on screw threads in one direction only, then which of
the following type of thread would be best suited

a)  /Square b) d¥H/Acme
¢) dWButtress d) Hicd/Metric
Options :

1.a

2.b

3.c

4.d

Question Number : 20 Question Id : 7715134315 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



¢ TH A Ud I8 H AF U@ o o # wiasd & 7 &l §, o Faiiied g8t
& YR ¥ ¥ 9§y I0gad BH-UI g2

If an application demands stresses on screw threads in one direction only, then which of
the following type of thread would be best suited

a)  /Square b) d¥H/Acme
¢) dWButtress d) Hicd/Metric
Options :

1.a

2.b

3.c

4.d

Question Number : 21 Question Id : 7715134316 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wHd 9O & R WEeE & o Felafed § O e uea (e @1 aied fe
HT dligls

Which of the following parameters should be monitored for determining safe operation of
journal bearing?

dd @§/0il pressure

a)
) S9N 4 dUHH/Bearing metal temperature
)
)

94RT HU/Bearing vibration
Iwad T/All of above
Options :

1.a

2.b

3.C

4.d

Question Number : 21 Question Id : 7715134316 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

w$$ww$mﬁgm@awmm (HR) 1 g T
TG ?

Which of the following parameters should be monitored for determining safe operation of
journal bearing?

dd @§/0il pressure

a)
) S9N 4 dUHH/Bearing metal temperature
)
)

94RT HU/Bearing vibration
Iwad T/All of above

Options :



1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134317 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%amﬁmqﬁﬁa%ﬁgaiwmﬂﬁuﬁmﬁWWWﬁmﬂmw
......... |

The solid solution formed when carbon atoms are absorbed into face centred cubic
structure of iron is called

a) Mg/ Austenite b) URfse/Ferrite

¢) f4HeRe/Cementite d) HIETUEe/ Martensite
Options :

1.a

2.b

3.c

4.d

Question Number : 22 Question Id : 7715134317 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

We Hled AN Bl g § boad de UHIg Wad § gAY s W [ oy fao

e @gd T

The solid solution formed when carbon atoms are absorbed into face centred cubic
structure of iron is called

a) Mg/ Austenite b) URfse/Ferrite

¢) f4HeRe/Cementite d) HIETUEe/ Martensite
Options :

1.a

2.b

3.c

4.d

Question Number : 23 Question Id : 7715134318 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



AA XXX ot & feal qffom fayurg & fow vee g Bew ges ... g

For wrought Aluminium alloys, AA 2XXX series, the predominant alloying element is

a)  disl/Copper b) ﬁmﬂ:’Manganese

c) HRMH/Magnesium d) i@ ©d A9/ Zinc and Manganese
Options:

1.a

2.b

3.c

4.d

Question Number : 23 Question Id : 7715134318 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AA XXX 9ot & fUedl uqfigm fyurg & U vea g e ges ... g
For wrought Aluminium alloys, AA 2XXX series, the predominant alloying element is
a)  disl/Copper b) ﬁmﬂ:’Manganese

c) HRMH/Magnesium d) i@ ©d A9/ Zinc and Manganese
Options:

1.a

2.b

3.c

4.d

Question Number : 24 Question Id : 7715134319 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T Tl & fv, 70 W 4w (E W G) H AR @ AU R
S (v) § T 3

For isotropic materials, the modulus of Elasticity in tension and shear (E and G) are related
to the Poisson’s ratio (v) as follows.

G E E G
H)E—m b]G—m C) G_Z(l—v) d)E—m
Options :

1.a
2.b
3.c

4.d



Question Number : 24 Question Id : 7715134319 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WeRe T & fy, 70 W 4 (E W G) W VAR @1 AU R
R I (v) § Wl B

For isotropic materials, the modulus of Elasticity in tension and shear (E and G) are related
to the Poisson’s ratio (v) as follows.

Options:
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134320 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Hiied & WG Uad SaIeR o Sl & g, fided L.,
B

For thin cylindrical shell structures loaded in compression, the design is based on

a) UG @ WHd U/ Yield strength of material

b) el & 9 MW/ Ultimate strength of material
c)
d)

YT @1 e gMel/Buckling strength of the structure
T &1 AU Ge/Shear strength of the structure

Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134320 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Hiied & WG Uad SaIeR o Sl & g, fided L., el 1 e A |
B

For thin cylindrical shell structures loaded in compression, the design is based on

a) Ue & WG I Yield strength of material

b) el &1 9 gHW/Ultimate strength of material

¢) U @1 3fibdd §HE/Buckling strength of the structure
d) T B HUEUN e Shear strength of the structure




Options :
1.a
2.b
3.C
4.d

Question Number : 26 Question Id : 7715134321 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgfefed o © diecs sige & oy FH-91 T g
Which of the following is FALSE for bolted joints?
a) U R U & & {0 diws Wige @ @ Wikd (diciss) o o @

Bolted joints are preloaded to avoid vibration loosening.

b) diec # HOH A & (Us) ¥ Wl B ao (IS e wkea gy A g8
3%) B M < IR 3

Threads made by thread rolling process are preferred over machined threads in bolts.

¢) W6 qd WRd (fiige) dike § O YR @1 WM B W g, 39U WR @ &
IR Wia & diied @f (i & § au1 99 Uwd dee ¥ a9 @ 9ol 6

When external load is applied to a preloaded bolt joint, a bigger percentage of that
load relieves compression of flanges and remaining percentage increases tension in
bolts.

d) dies dige I HGHT TSR F T ¢ Y & g G Kiv g 9
JIM gl
Bolted joints are designed such that bolt stiffness is higher than flange stiffness.

Options :

1.a

2.b

3.¢C

4.d

Question Number : 26 Question Id : 7715134321 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



foffed # § dicds dige & U -9 Td 82
Which of the following is FALSE for bolted joints?
a) o0 RUGH ¥ 93 & fow diecs sige &1 @ wiRka (fidiss) foar o g

Bolted joints are preloaded to avoid vibration loosening.

b dw dw A @ e 3 W e gs R T B
@) B fErEa & o 2

Threads made by thread rolling process are preferred over machined threads in bolts.

o) W @ Wi (fidise) dike § 9 YR @1 WM W S g, 39 WR @ §e
HfoRId WS & Ydied @t Fied B 87U 9 UioRd die H q @ G @
When external load is applied to a preloaded bolt joint, a bigger percentage of that
load relieves compression of flanges and remaining percentage increases tension in
bolts.

d) dis Wise @ AGHEH PR B T ¢ b 6 die R Wi giEd 9
I gl
Bolted joints are designed such that bolt stiffness is higher than flange stiffness.

Options :

1.a

2.b

3.cC

4.d

Question Number : 27 Question Id : 7715134322 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dieeR gUUe og8 (Ifdd) ...... gr1 fffa €

The collapsible tooth paste tubes (metallic) are manufactured by

a) H4g Eiﬁ'ﬁ‘t‘l:f.-’lmpact extrusion

b) ﬁﬂ:l.-'Piercing

c) fagga ufaiy dee-/Electric resistance welding
d)  dter sfgdeq/Direct extrusion

Options :
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134322 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



dlecR gUUR & (Ufdd) ...... grT g §

The collapsible tooth paste tubes (metallic) are manufactured by

a) H4dg Eiﬁ'g‘il:f.-’lmpact extrusion

b)  duH/Piercing

c) faggd ufaly dee-/Electric resistance welding
d)  dter sfgdeH/Direct extrusion

Options :
1.a
2.b
3.¢
4.d

Question Number : 28 Question Id : 7715134323 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 H TR Wshdl g o1g @ Fifde fdg & FW & quHH ® T B o6 g
qur Ui R 9P 8l W@ Wi g odu R ud # R ¥ de few o g, 9

A heat treatment process in which the metal is heated to a temperature above the critical
point, and held there for sufficient time and then cooled slowly in the furnace is called

a) TG/ Normalizing
b)  FficH/Annealing

¢) MRi/Tempering

d) @Id UHIdT/Ageing
Options :

1.a

2.b

3.c

4.d

Question Number : 28 Question Id : 7715134323 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U6 HW STER Weba forgd o & $ifds i & SR & auH ® T B o g
U R dP T W AW o§ oo R oug ¥ ¥ &S few 9 g,

A heat treatment process in which the metal is heated to a temperature above the critical
point, and held there for sufficient time and then cooled slowly in the furnace is called

) TEHARIG/Normalizing
) 3Fic/Annealing

¢) MRITempering

d) @Id UHd/Ageing

il

=

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134324 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
®oRdl & quigar HH | Fofiifed § 9 -9 98l 22

Which of the following is correct in the increasing order of hardness?

a) Austenite < Pearlite < Ferrite <Martensite
b) Pearlite < Austenite < Ferrite <Martensite
c) Austenite < Ferrite < Pearlite <Martensite
d) Austenite <Martensite< Ferrite <Pearlite

Options:
1.a
2.b
3.¢
4.d

Question Number : 29 Question Id : 7715134324 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HoRdl & gufoaE w0 o Fufafag #§ & s0-a1 98 &2

Which of the following is correct in the increasing order of hardness?

a) Austenite < Pearlite < Ferrite <Martensite
b) Pearlite < Austenite < Ferrite <Martensite
c) Austenite < Ferrite < Pearlite <Martensite
d) Austenite <Martensite< Ferrite <Pearlite

Options :



1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134325 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oe fid o1q & W Yo § SIal oIl §, dg Mufeidd B ¥ T
When the molten metal is poured in a mould, it may pass through the following items in
sequence

a) MG (), TR, T, elU IFYSprue, runner, gate, top riser

b) R, M (8, T, ¢IU IZYYRunner, sprue, gate, top riser
¢) oW W, TR, G (F), T/ Top riser, unner, sprue, gate
d) e, A (F), o W, TR/Gate, sprue, top riser, runner
Options :

1.a

2.b

3.C

4.d

Question Number : 30 Question Id : 7715134325 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e fi9d 91 @ W@ Y99 H Sl o §, dg MEaiad #9 9 e
When the molten mefal is poured in a mould, it may pass through the following items in
sequence

a)  HFR (8, WR, W, T IGW/Sprue, runner, gate, top riser

b) TR, MG (B, e, U IGYRunner, sprue, gate, top riser
¢) 21 YR, IR, AET (F), ﬁE.-"Tap riser, runner, sprue, gate
d) T, FE (), °U IEW, TGate, sprue, top riser, runner
Options :

1.a

2.b

3.C

4.d

Question Number : 31 Question Id : 7715134326 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



s s A @% ............... o1 SRR o 2
o=

a)  Jdig ®IU Y&YThird Angle Projection
b) THGR® W&UIsometric Projection

c) WYH HIU U&UFirst Angle Projection
d) fod® yaw/oblique Projection

in Engineering Drawings represents

Options:
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134326 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

s s A @% ............... o1 SRR o 2
o=

a)  Jdig ®IU Y&YThird Angle Projection
b) THGR® W&UIsometric Projection

c) WYH HIU U&UFirst Angle Projection
d) fod® yaw/oblique Projection

in Engineering Drawings represents

Options:
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134327 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



g TgEH & fm & U Ao § ¥ Y R & @i derse &1 W i
oIl &2
Which one of the following type of plant layout is used for manufacturing of huge
aircrafts?

a) SdIC d3Se/Product layout

b)  Wisdl TWIHIT /Process layout

¢) R ™M T3N3 [Fixed position layout
d) UONH WHSE /Combination layout

Options :
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134327 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

95 dguHl & P & fou Fefifed § ¥ 9 geR ¢ @ie derse & W

ol 2

Which one of the following type of plant layout is used for manufacturing of huge

aircrafis?

) ddig Wafge/Product layout

) W1 THST /Process layout

) T@R ™M W3¢ [Fixed position layout
) TS WHISE /Combination layout
Options :

1.a

2.b

3.C

4.d

Question Number : 33 Question Id : 7715134328 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



PERT/CPM ¥ %06 W .......... 8
The critical path in PERT/CPM is

2) I6 U 30 06 b H qYW W T P H GG W & U W T
T & 8
The shortest path in the network from start to the end and defines the minimum time to

complete the project

b) TF ¥ 7 T cad H SaH Y o B B W F & oy e S ol
T & 8
The longest path in the network from start to the end and defines the maximum time to

complete the project

¢) I6 ¥ 7 T odb ¥ WM W U B B G H o (o0 Hfiwan g al
qet e ¢
The shortest path in the network from start to the end and defines the maximum time to
complete the project

d) [0 9 o % Jead W Ao W T FN @ W B & oY gTH
qet e ¢
The project longest path in the network from start to the end and defines the minimum
time required to complete the project

Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134328 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



PERT/CPM ¥ %06 W .......... 8
The critical path in PERT/CPM is

2) I6 U 30 06 b H qYW W T P H GG W & U W T
T & 8
The shortest path in the network from start to the end and defines the minimum time to

complete the project

b) TF ¥ 7 T cad H SaH Y o B B W F & oy e S ol
T & 8
The longest path in the network from start to the end and defines the maximum time to

complete the project

¢) I6 ¥ 7 T odb ¥ WM W U B B G H o (o0 Hfiwan g al
qet e ¢
The shortest path in the network from start to the end and defines the maximum time to
complete the project

d) [0 9 o % Jead W Ao W T FN @ W B & oY gTH
qet e ¢
The project longest path in the network from start to the end and defines the minimum
time required to complete the project

Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134329 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



oA ol A A @ GRT SR o WA ¢

The VALUE in value engineering can be expressed as

; Cost
a)  Value = Function x Cost b) Value= -
Function
Function 1
c) Value= d) Value=—
Cost Cost
Options:
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134329 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oA Sl A @ U o e

The VALUE in value engineering can be expressed as

. Cost
a)  Value = Function x Cost b) Value= -
Function
Function 1
¢) Vale= d) Value=—
Cost Cost
Options :
1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134330 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faciitd ®reigs SfiuRl & fow faduT wardf # .. .. .. .. T g

The coating materials for coated carbide tools includes

a) TiC. TiN and NaCN b) TiN and SiO;
c) TiC and TiN d) TiC and NaCN

Options :



1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134330 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faeiftd ®reigs MRl & fou fadoT wardf & .. ... .. A §

The coating materials for coated carbide tools includes

a) TiC. TiN and NaCN b) TiN and SiO;
c) TiC and TiN d) TiC and NaCN

Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134331 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafafad & ¥ @H-w e fiRfe AR R A8 X Jdre

Which of the following properties is not possessed by ceramic tools?

a) 3= ®éRdl/High hardness
b) T= Yllsh YM@/High compressive strength
c) 3= dU™ dddbdl/High thermal conductivity
d) 3= HiRdI/High brittleness

Options :
1.a
2.b

3.cC
4.d

Question Number : 36 Question Id : 7715134331 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fofafea & 9 oF-w o R SioR gRT 81 quiar Sl

Which of the following properties is not possessed by ceramic tools?

a) 3= ®ARdI/High hardness
b) J= Ytk YM@/High compressive strength
¢c) 3= dU™ drdddi/High thermal conductivity
d) 3= HRdI/High brittleness

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134332 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ALM &1 Adad ...... B
ALM stands for

a)  dioHl 9 fAAflAdditive Lean Manufacturing
b) dioHl @R FHEUAdditive Layer Manufacturing
¢) 3ffaRad iR FAHioAdditional Layer Manufacturing

d) 3Iudad ¥ U dis Agl/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134332 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ALM &1 Adad ...... B
ALM stands for

a)  dioHl 9 fAAflAdditive Lean Manufacturing
b) dioHl TR FHEUAdditive Layer Manufacturing
c) 3ffafiad iR fAioAdditional Layer Manufacturing

d) 3I9ad d U dig Agl/None of the above

Options :
1.a
2.b



3.cC
4.d

Question Number : 38 Question Id : 7715134333 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafafed @ ¥ $H-91 tHa Uise &ad R &2

Which one of the following is a single point cutting tool?

a) %W ®18/Hacksaw blade b) Ty W.-"Milling cutter
¢) UNUl ®e/Grinding wheel d) Q¥@d IR/ Parting tool

Options :
1.a
2.b
3.C
4.d

Question Number : 38 Question Id : 7715134333 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fafaied § ¥ $H-1 13 Uise &ad AR &2

Which one of the following is a single point cutting tool?

a) %W ®18/Hacksaw blade b) Ty W.-"Milling cutter
¢) UNUl ®e/Grinding wheel d) Q¥@d IR/ Parting tool

Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134334 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed § 9 oF-9 o i suedn gerl & i uged T@ e g

Which one of the following is NOT used as abrasive material for grinding wheels

a) UQHHEY Siege/Aluminium oxide

b) @M @EEs/Silicon Carbide

¢) @dd R AZeEs/Cubic boron nitride
d) HHY HFEEe/ Manganese oxide



Options :
1.a
2.b
3.C
4.d

Question Number : 39 Question Id : 7715134334 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafifed 7 @ a9 < e wed & R vge T g g

Which one of the following is NOT used as abrasive material for grinding wheels

a) UQHHEY Siege/Aluminium oxide

b) @M @EEs/Silicon Carbide

¢) @dd R AZeEs/Cubic boron nitride
d) HHY HFEEe/ Manganese oxide
Options :

1.a

2.b

3.c

4.d

Question Number : 40 Question Id : 7715134335 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

OefifT o @ 9 @ OUd & U uged U a1 gfdd ... e

The instrument or device used to measure the cutting forces in machining is

a)  gufdmamdl Tachometer

b)  gafE/Comparator

c) SE-HMHREYDynamometer
d)  ®If$A/Encoder

Options :
1.a
2.b
3.C
4.d

Question Number : 40 Question Id : 7715134335 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e § &dd 99 @ AU & 00 WY U a1 Qi ... ... ?

The instrument or device used to measure the cutting forces in machining is

a) UM/ Tachometer

b)  dA/Comparator

c) SEAYHCYDynamometer
d) ®If&A/Encoder

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134336 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g 3 & U qw ®ifshT amEs 8o L. o

Hot forging temperature range for mild steel is

a) 400°C to 600°C
b)  700°C to 900°C
Cc) 1000°C to 1300°C
d) 1400°C to 1500°C

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134336 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g 3 & U qw Wikt amae g L. 8

Hot forging temperature range for mild steel is

a)  400°C to 600°C
b)  700°C to 900°C
c) 1000%C to 1300°C
d) 1400°C to 1500°C

Options:
1.a
2.b



3.cC
4.d

Question Number : 42 Question Id : 7715134337 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WY FEiT & GRME, oig M L. R WMIfdd &

During ultrasonic machining, the metal removal is affected by the

a)  UGRid BUI &1 9are HR/Hammering action of abrasive particles

b) 3fWR W g & &9 FEd0 BR/Rubbing action between tool and work-piece
c) Jd Mg HaX YRIHigh frequency eddy currents

d) 3w ¥ ¥ $IE TENone of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 42 Question Id : 7715134337 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WY AT & GRM, oI Fe L. R yHifad 8

During ultrasonic machining, the metal removal is affected by the

a)  HTAd U &1 Tdre Hd/Hammering action of abrasive particles

b) YR T UG & &9 FYY0 BRIRubbing action between tool and work-piece
¢) o @RI YR YRVHigh frequency eddy currents

d) IWa ¥ I B e/None of the above

Options :

1.a

2.b

3.C

4.d

Question Number : 43 Question Id : 7715134338 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



wﬁgnmuﬁmﬁ,w&hmﬁ%ﬁqummw

In a wire-cut EDM process, the necessary conditions that have to be met for making a
successful cut are that

a) dR U4 ¥1q fig ® U & R I o
Wire and sample are electrically non-conducting
b) TR W@ ¥d fGggd ®U A TP g
Wire and sample are electrically conducting
¢) UK fdgyd ®U ¥ de § wd Jud faggd €0 ¥ R d0d
Wire is electrically conducting and sample is electrically non-conducting
d) Yo f9gqd ¥U ¥ 9id § U4 O faggd ®9 ¥ R 96e
Sample is electrically conducting and wire is electrically non-conducting
Options:
1.a
2.b
3.c

4.d

Question Number : 43 Question Id : 7715134338 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wﬁgnmuﬁmﬁ,w&hmﬁ%ﬁquwmw

In a wire-cut EDM process, the necessary conditions that have to be met for making a
successful cut are that

a) dR U4 ¥1q fig ® U & R I o
Wire and sample are electrically non-conducting
b) TR W@ ¥d fGggd ®U A TP g
Wire and sample are electrically conducting
¢) UK fdgyd ®U ¥ de § wd Jud faggd €0 ¥ R d0d
Wire is electrically conducting and sample is electrically non-conducting
d) Yo f9gqd ¥U ¥ 9id § U4 O faggd ®9 ¥ R 96e
Sample is electrically conducting and wire is electrically non-conducting
Options:
1.a
2.b
3.c

4.d

Question Number : 44 Question Id : 7715134339 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fFafied 9@ deqel § 9§, Feld wiew ... .. ... ¥ fou smows §

Among the following welding techniques, vacuum environment is required for

a) UG deE/Ultrasonic welding

b) TR B0 Us des/Laser beam welding

¢) TWWHl 3d des4/Plasma arc welding

d) Sdd U U9 deed/Electron beam welding

Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134339 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFfied deT deel B 4, Feld wiew ... ... ... ¥ fou mows §

Among the following welding techniques, vacuum environment is required for

a) TRI%Y desd/Ultrasonic welding

b) oW &0 49 de=/Laser beam welding

¢) WMl 3 des/Plasma arc welding

d) Sddel fRU U9 deed/Electron beam welding

Options :
1.a
2.b
3.c
4.d

Question Number : 45 Question Id : 7715134340 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U$ &dd ek § 39T ... ... U T8f 8l PHdl

A cutting tool can never have its

a) Y& DIV - YTHD/Rake angle — positive

b) & BVl - BUTHD/Rake angle — negative

c)  3faudl @IV - ¢HIHB/Clearance angle — positive
d)  Sfauell DIV - BUNHS /Clearance angle — negative

Options :
1.a
2.b



3.cC
4.d

Question Number : 45 Question Id : 7715134340 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TP @Hdd R H J9@T ... ... it Tof I Il

A cutting tool can never have its

a) @ B - gIHDB/Rake angle — positive

b) Y& DIV - BUNHD/Rake angle — negative

c) SR I - YAIESB/Clearance angle — positive
d)  3fduell BIU - BUNES /Clearance angle — negative

Options :
1.a
2.b
3.c
4.d

Question Number : 46 Question Id : 7715134341 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

frofofed # ¥ oF-d daieq uiear # ahdlg &1 o WET Tl g

Which one of the following joining process doesn’t involve melting of work piece?

a) 79 dwed/Gas Welding b) 3 des+/Arc Welding
¢) u-/Brazing d) WicRlY des+/Resistance Welding

Options :
1.a
2.b
3.C
4.d

Question Number : 46 Question Id : 7715134341 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fofafed 7 ¥ oH-d daied ulpar § U @1 T Wi T8l gl

Which one of the following joining process doesn’t involve melting of work piece?

a) 119 dee/Gas Welding b) & dee/Arc Welding
c) SY/Brazing d) UfRlY dee-/Resistance Welding



Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715134342 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofafed # 9 o9 ded 529 | WEs fd T8 < gadre

Which one of the following CANNOT impart linear motion in a CNC machine?

a) Y& AleY/Linear motor b) did Ug/Ball screw
c) die Ud/Lead screw d) @ T4 Gadsh/Chain and sprocket

Options :
1.a
2.b
3.C
4.d

Question Number : 47 Question Id : 7715134342 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fofifed # 9 o ded w=ib | WEe 1id T8 T gdde

Which one of the following CANNOT impart linear motion in a CNC machine?

a) {R& AleYLinear motor b) §id Ud/Ball screw
c) o8 UdlLead screw d) 99 Td &ddsh/Chain and sprocket

Options :
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134343 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



AT H SR o/ THE wU Y ... SRI Wifdd 3

Tool life in machining is affected mainly with

a) is/[Feed b) @a- @1 TREle/Depth of cut
c) fid®/Coolant d) ®d9 Tfd/Cutting speed

Options:
1.a
2.b
3.c
4.d

Question Number : 48 Question Id : 7715134343 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AT A SR A e FU Y ... SRT THIfdd @

Tool life in machining is affected mainly with

a) is/[Feed b) @a- @1 TREle/Depth of cut
c) fid®/Coolant d) ®d9 Tfd/Cutting speed

Options:
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134344 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

HH-U1 deed UiehdT Ud deg §9H @ [ IR IUYH TR 3adgle @1 SHN Bl g2

Which type of welding process uses a non-consumable tungsten electrode to create a weld?

a)  MIG deed/welding b) TIG dee welding
¢) D deed /Arc welding d) 719 9 /Gas welding

Options:
1.a
2.b
3.¢
4.d

Question Number : 49 Question Id : 7715134344 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185
HH-U e Ui @ des §H & U TR I04dd e Tl &1 ST Bl 82

Which type of welding process uses a non-consumable tungsten electrode to create a weld?

a)  MIG de-welding b) TIG dce welding
¢) @ deed/Arc welding d) 19 9t /Gas welding

Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134345 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Jdre fade™ § FMEA &1 WYiie I539 &1 82
What is the primary purpose of FMEA in product development?

a) JdG ¥ ®Hgl & FWIR d¢HI/Maximizing defects in a product
b) Tava fawcar faursh Ud Sud UHEl S UgAEHl

Identifying potential failure modes and their effects
c) JdG JdEd &l @iRd HIHl/Accelerating product production
d) Hidbe Uil & &9 $HH/Reducing market competition

Options:
1.a
2.b
3.¢
4.d

Question Number : 50 Question Id : 7715134345 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e f[de™ d§ FMEA &1 UUHe 3590 @1 82
What is the primary purpose of FMEA in product development?

a) 3Jdg ¥ HEl @ FWIMR deHI/Maximizing defects in a product
by faug fawad furell vd IUd NG DI ggdEHl

Identifying potential failure modes and their effects
c) JdIG Jdled I @ikd HHl/Accelerating product production
d) Hidbe WAl & &9 ®Reducing market competition

Options :
1.a



2.b
3.¢C
4.d

Question Number : 51 Question Id : 7715134346 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

{1 o1 & Aof® 1@ 9 4R @ 95T o 3 we 3 emd 9l ..., Fed &

Material's ability to withstand sudden and intense load without breaking is called

a)  dddl/Ductility b) Yegdl/Toughness
¢) UIMRYdI/Elasticity d) HoRdlHardness
Options:

1.a

2.b

3.c

4.d

Question Number : 51 Question Id : 7715134346 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1 oA & e ® 1@ i YR B 96 o 3 we o W o ... TR &

Material's ability to withstand sudden and intense load without breaking is called

a)  dgdi/Ductility b) ¥eedl Toughness
¢) UdMRdlElasticity d) HERd/Hardness
Options :

1.a

2.b

3.C

4.d

Question Number : 52 Question Id : 7715134347 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Wy HET 4, Uerl QudeRu § Ugdl WeH @R @ Y YR WYl duHl 31 Eid
82

In Ultrasonic Machining, what is the source of the ultrasonic vibrations used to assist in
material removal?

) 9@ T§ Wd we/High-pressure water jet

) d§F1 &F/Magnetic fields

) %dee fdggd CISYER/Piezoelectric transducer

) fdggd wemEe sfHisHalElectrochemical reaction
Options :

1.a

2.b

3.c

4.d

Question Number : 52 Question Id : 7715134347 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WY AR H, el Qudeiu § WeEdl WeH &% & U Wed Wiy Sl @ 9l

&

In Ultrasonic Machining, what is the source of the ultrasonic vibrations used to assist in

material removal?

) 3= €4 & we/High-pressure water jet

) 9@ &F/Magnetic fields

) wdald fdqgd CHSR Piezoelectric transducer

) figyd Tumi® A Electrochemical reaction
Options:

1.a

2.b

3.C

4.d

Question Number : 53 Question Id : 7715134348 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

uqﬁ%—cﬂ" g o J&Y ...... -\El %

The term "accuracy" refer to

a) U M H HIfUd 9H & HEUd Bl
The degree of conformity of a measured value to the true value
b) HUH H WEQUUl 3l @ Y&/ The number of significant figures in a measurement
c) BIC UM & HU4 BT &/ The ability to measure small dimensions
d) TH9 & Y AU B YAl The consistency of measurements over time



Options :
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134348 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR UE T 4EY .. ... g

The term "accuracy" refer to

a) Ty oH o Aiftd 99 @1 e i
The degree of conformity of a measured value to the true value

b) T § AE@QU 3 @ Y& The number of significant figures in a measurement
c) BIC MM S HU4 I &/ The ability to measure small dimensions
d) U9 & WY T DI AU The consistency of measurements over time

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134349 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

{9 @R @1 Gy veM 3@ dUEF @ Ui S@F Wkl & T 99 &2

Which type of composite material is known for its excellent resistance to high
temperatures?

a) ®eq BIZsR Y/ Carbon fiber composites
b) AW PR IHY/Glass fiber composites

¢) Rnfw AfeY TMY/Ceramic matrix composites
d) dgad A WY/ Polymer matrix composites
Options:

1.a

2.b

3.c

4.d

Question Number : 54 Question Id : 7715134349 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



g TPR 1 9y v 3= dUHE & U I@P WY & [T 9 82

Which type of composite material is known for its excellent resistance to high
temperatures?

a) @M BIRE JEY/Carbon fiber composites
b) TH BEE HEH/Glass fiber composites

¢) RRM® Afesd T/ Ceramic matrix composites
d) dga® AR TEY/Polymer matrix composites
Options :

1.a

2.b

3.C

4.d

Question Number : 55 Question Id : 7715134350 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ity warf &1 "Tg" @ 82

What is the "Tg" of a composite material?

a) Uard ¥MY &1 AY9/Measurement of material strength.

by fdggd drdddl &I HUA/Measurement of electrical conductivity.
c) A HHHUT dIdHM/Glass transition temperature

d) I WHAI &1 A94/Measurement of resin viscosity.

Options :
1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134350 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ity ggrd &1 "Tg" A 82

What is the "Tg" of a composite material?

a) Uerd UMY &1 AYH/Measurement of material strength.

b) fdggd drdddl &I HU-A/Measurement of electrical conductivity.
¢) A YHHUT dITHM/Glass transition temperature

d) I WHAl &1 A94/Measurement of resin viscosity.

Options :
1.a



2.b
3.¢C
4.d

Question Number : 56 Question Id : 7715134351 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gy gerdf H, At v &1 wiuiEe ue @l g

In composite materials, what is the primary function of matrix material

a) TWY Ud gA™dl WeH @XAl/Provide strength and stiffness
b) W&RUI ¥ §dId/Protect against corrosion
c) UP UY Ugad Yo & €Y Td YR
Bond and hold the reinforcement material together
d) fdggd 9@ dl YURATImprove electrical conductivity

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134351 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gty el o, Afte uard o1 uufte ued @ ge

In composite materials, what is the primary function of matrix material

a) UMY Ud gi™dl WeH $Al/Provide strength and stiffness
b)  Hemu ¥ §dId/Protect against corrosion
c) TP UY YdeH Yo &1 ey T4 YRl
Bond and hold the reinforcement material together
d) fdggd 9@ dl YRATImprove electrical conductivity

Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134352 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



e ey ud am d ofRly & oRu Oy el @ ai o @
RO Wgdd S AR Ged dH-A1 g2

Which cutting tool material is often preferred for machining composite materials due to its
resistance to abrasive wear and heat?

a) I Tid 39 (TIUHUH) High-speed steel (HSS)
Hﬂﬁfﬂ‘a’.:"(jarbide

)
) d9/Diamond
) DIee/Cobalt

Options :

=

c
d

1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134352 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A queffd oRudw U@ qU H W & RO Wiy seRl @ At o @

TRV T B SR Ter BH-91 82

Which cutting tool material is often preferred for machining composite materials due to its
resistance to abrasive wear and heat?

a) 9o Tid F9 (TIUHUH) /High-speed steel (HSS)
®1a158/Carbide

)
) d9/Diamond
)

=

BIET/Cobalt

Options:

C
d

1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134353 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ﬁ%ﬂwwﬂﬁﬂmﬁ,aﬁwwaﬁﬁﬂ?ﬁﬁaaﬂﬁmﬁ ........ LR
EIn|

In spark erosion machining process, gap between tool and workpiece is filled with

) T Bidl WidRS/A photo etchant
b)  ©du fdTd/Brine solution
c) 3% fdc/Acid solution
d) % WAGGdA liquid dielectric

[~



Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134353 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Wi SRe wRAFT wiedr 4, SWR w adhie & o @ Rdd @ ... T W
W &
In spark erosion machining process, gap between tool and workpiece is filled with
a) U@ Wlel YW@R®/A photo etchant
b) WA fdTBrine solution
¢c) % fduU/Acid solution
d) % WIdGTd/A liquid dielectric
Options :
1.a
2.b
3.C
4.d

Question Number : 59 Question Id : 7715134354 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U9 AR®iHer ... .. &1 A0 &l o

The thread micrometer measures

a) Ud &I T8 od/Major diameter of the thread

b) Ud &I TY @R/Minor diameter of the thread

¢) Ud @ WYEl S/Effective diameter of the thread
d) ud @I Hd AH/Root diameter of the thread
Options :

1.a

2.b

3.C

4.d

Question Number : 59 Question Id : 7715134354 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U AgeiHe ... .. P A0 &l §

The thread micrometer measures

a) Ud @ Y& AM/Major diameter of the thread

b) Ud &I &Y @R/Minor diameter of the thread

c) Ud @ WHMHl AM/Effective diameter of the thread
d) Ud @ d @/Root diameter of the thread
Options:

1.a

2.b

3.C

4.d

Question Number : 60 Question Id : 7715134355 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafefed & 9 sH-w1 gradl Faf uisar g-
Which of the following is an Additive Manufacturing process?

a) fdld ¥d&/Vacuum Casting

b) @& AU dedh-IPHI0/Room temperature vulcanization
c) Bfaw smm ggu (FiAl fGUIeY) /Stereolithography
d) fufeld— Igs ddd-/Silicon Rubber Molding

Options :
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134355 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fFafeiad § 9 ®H-w1 gl FAf isar g
Which of the following is an Additive Manufacturing process?

a) fdald ¥d&/Vacuum Casting

b) @& AU dedh-IPH0/Room temperature vulcanization
c) Bfaw smm ggu (FiAl fGUIeY) /Stereolithography
d) fufeld— Igs ddd-/Silicon Rubber Molding

Options :
1.a
2.b



3.cC
4.d

Aptitude Test

PartI

Question Number : 61 Question Id : 7715134356 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



dieiarga da@l U4 gEl g i de UgH § 39 Mm@ Rl Sarel @1 ad g
i Tod Tu o Afdqa o 9fgn 36 @1 AR §, 96 9@ [ d g9 Siedl @ doe
U Rl @l die 7 Ugdl| dequR, 3@ A9y ¢ 6 g dle dw G O T e
We I 31 Fig @ ke Fefee § § oA, o wd @ @, sww i
el @1 THRAgd® gda Bl ©?

Opponents of laws that require automobile drivers and passengers to wear seat belts argue that
in a free society people have the right to take risks as long as the people do not harm other as a
result of taking the risks. As a result, they conclude that it should be each person's decision
whether or not to wear a seat belt. Which of the following, if true, most seriously weakens the
conclusion drawn above?

(a) P35 T R W He 9 ¥ PffT § o 5 & g omt @t die § 93 W W
afdd & 9y §Y 9l 3l

Many new cars are built with seat belts that automatically fasten when someone sits in
the front seat.

(b) ¥ 9 7 T & IRU deql guee 1 g9 & fow §W ¢ & eRu of
HiemaRa YRSt & U fiemeRa & A T8 w9 8

Automobile insurance rates for all automobile owners are higher because of the need to
pay for the increased injuries or deaths of people not wearing seat belts.
() foHM # bRl @1 I8 ® IR 99d TG HGRW B GRH YT d@ TeHl ol

%’I Passengers in airplanes are required to wear seat belts during takeoffs and landings.

(d) mcEl Uie dee oW ¥ g Tl | gHarl gHede @ gon | die 9o om 9
gHa et 7 AR gHeTel 1 ) 9w B

The rate of automobile fatalities in states that do not have mandatory seat belt laws is
greater than the rate of fatalities in states that do have such laws.

Options :
1.a
2.b
3.C
4.d

Question Number : 61 Question Id : 7715134356 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



dieiarga da@l U4 gEl g i de UgH § 39 Mm@ Rl Sarel @1 ad g
i Tod Tu o Afdqa o 9fgn 36 @1 AR §, 96 9@ [ d g9 Siedl @ doe
U Rl @l die 7 Ugdl| dequR, 3@ A9y ¢ 6 g dle dw G O T e
We I 31 Fig @ ke Fefee § § oA, o wd @ @, sww i
el @1 THRAgd® gda Bl ©?

Opponents of laws that require automobile drivers and passengers to wear seat belts argue that
in a free society people have the right to take risks as long as the people do not harm other as a
result of taking the risks. As a result, they conclude that it should be each person's decision
whether or not to wear a seat belt. Which of the following, if true, most seriously weakens the
conclusion drawn above?

(a) P35 T R W He 9 ¥ PffT § o 5 & g omt @t die § 93 W W
afdd & 9y §Y 9l 3l

Many new cars are built with seat belts that automatically fasten when someone sits in
the front seat.

(b) Ue dw 7 WM & IRV dedl guedd A1 99 & foU OW ¢ & eRu Wb
HicimiaRd YRSl & fau sfcmiersa & IR 55 <31 o
Automobile insurance rates for all automobile owners are higher because of the need to
pay for the increased injuries or deaths of people not wearing seat belts.

(0 fm o aifil &1 38 IF XA 60 U HGRU & GRE Ule de T wed

%’I Passengers in airplanes are required to wear seat belts during takeoffs and landings.

(d) mcEl Uie dee oW ¥ g Tl | gHarl gHede @ gon | die 9o om 9
gHa et 7 AR gHeTel 1 ) 9w B

The rate of automobile fatalities in states that do not have mandatory seat belt laws is
greater than the rate of fatalities in states that do have such laws.

Options :
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715134357 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

VENT Teg &1 3 GUH d1d Yeg &I 997 B

Choose the word which best expresses the meaning of the word : VENT

(a) Opening
(b) Stodge
(c) End

(d) Pasttense of go



Options :
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715134357 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

VENT Teg @I Y T T Weg & IIT B

Choose the word which best expresses the meaning of the word : VENT

(a) Opening

(b) Stodge

(c) End

(d) Pasttense of go

Options :
1.a
2.b
3.C
4.d

Question Number : 63 Question Id : 7715134358 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



ford o FHaiRal & q fawrfe ®R # 1@ gdig 96 9o @ €1 98 dedl o b 39
TaRid ¥ UF o gha ¢ 9 i & Sued & fou 39 3faed sHainal @ o
gl 9 @1 9af & 99 3791 1@ BHaNl IR-aR b Wl gl foo @ wiaedr &1 gl
qligu?

Liz is conducting a morning meeting with her staff at a department store. She explains a sale is
going on this weekend, and she needs additional staff to help cover the rush. While Liz is speaking,

an employee keeps interrupting her. How should Liz react?

(a) foF @ PHIN B 6@ T YA S U4 dg 9 @I gl dMieu
Liz should tell the employee to clock out and leave.
(b) ol @1 PHIN U do0 ¥ G & DI Sl gL
Liz should ask the employee to leave the meeting.
() 966 Bl SR-4R UG & o0 Tt dHaRAl & G, o D1 BHIN DI e
dIfgUl  In front of all the employees, Liz should admonish the employee for interrupting.
(d) ol @I fgagds SHaRl &1 oMU UY T & U 959 & §HIu db
¥ Pl Bl I

Liz should politely ask the employee to wait until the end of the meeting to ask any

guestions they might have

Options :
1.a
2.b
3.C
4.d

Question Number : 63 Question Id : 7715134358 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



ford o FHaiRal & q fawrfe ®R # 1@ gdig 96 9o @ €1 98 dedl o b 39
TaRid ¥ UF o gha ¢ 9 i & Sued & fou 39 3faed sHainal @ o
gl 9 @1 9af & 99 3791 1@ BHaNl IR-aR b Wl gl foo @ wiaedr &1 gl
qligu?

Liz is conducting a morning meeting with her staff at a department store. She explains a sale is
going on this weekend, and she needs additional staff to help cover the rush. While Liz is speaking,

an employee keeps interrupting her. How should Liz react?

(a) foF @ PHIN B 6@ T YA S U4 dg 9 @I gl dMieu
Liz should tell the employee to clock out and leave.
(b) ol @1 PHIN U do0 ¥ G & DI Sl gL
Liz should ask the employee to leave the meeting.
() 966 Bl SR-4R UG & o0 Tt dHaRAl & G, o D1 BHIN DI e
dIfgUl  In front of all the employees, Liz should admonish the employee for interrupting.
(d) ol @I fgagds SHaRl &1 oMU UY T & U 959 & §HIu db
¥ Pl Bl I

Liz should politely ask the employee to wait until the end of the meeting to ask any

guestions they might have

Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134359 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



it 7 B A B B 0571 e A Y B Y R G B B A L
T TR 1 990 3| Vol W GEATeS o1 B33 91 ot A o1 [ @) R Al 39
Tde® W G ®H W 1 &R @ gl CHl gRI HUAH G el SR dRdlR & |
giit?

Tommy was given a list of assignments to complete three days ago and was told he had a week
to complete them. After working quickly and efficiently, Tommy has completed the tasks. His

supervisor is working at a different location today. What is the most appropriate action for Tommy
to take?

(a) ol B SUs Wded Wl W §, 95 I AU qul AU o & fqu GEA aifeu
Tommy should visit the location where his supervisor is and ask for a new assignment.
(b) P! B YHY HRM ST dIieY, I I I Wiedl T GEdgdD b bl

iEt'l Tommy should take the rest of the day off since he worked so quickly and efficiently.

(c) Sl BT U THde® @ AT A6y AR W BH-U T FE [E B 8, Te
el gl

Tommy should call his supervisor and ask what new assignments he should start on.
(d) o B T GeHdl B e TRy TR o ufvae & fo wema @R &,
fored f a¢ ooy & fal o8 fan 0@ € 7 331 @)

Tommy should find a coworker who needs help with a project, so he is not sitting around
the office doing anything.

Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134359 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



it 7 B A B B 0571 e A Y B Y R G B B A L
T TR 1 990 3| Vol W GEATeS o1 B33 91 ot A o1 [ @) R Al 39
Tde® W G ®H W 1 &R @ gl CHl gRI HUAH G el SR dRdlR & |
giit?

Tommy was given a list of assignments to complete three days ago and was told he had a week
to complete them. After working quickly and efficiently, Tommy has completed the tasks. His

supervisor is working at a different location today. What is the most appropriate action for Tommy
to take?

(a) ol B SUs Wded Wl W §, 95 I AU qul AU o & fqu GEA aifeu
Tommy should visit the location where his supervisor is and ask for a new assignment.
(b) P! B YHY HRM ST dIieY, I I I Wiedl T GEdgdD b bl

iEt'l Tommy should take the rest of the day off since he worked so quickly and efficiently.

(c) Sl BT U THde® @ AT A6y AR W BH-U T FE [E B 8, Te
el gl

Tommy should call his supervisor and ask what new assignments he should start on.
(d) o B T GeHdl B e TRy TR o ufvae & fo wema @R &,
fored f a¢ ooy & fal o8 fan 0@ € 7 331 @)

Tommy should find a coworker who needs help with a project, so he is not sitting around
the office doing anything.

Options :
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715134360 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e & Ty gab 9 % a J@H. ... B %I!Careful is to cautious as bigheaded is

to

(a) &[ﬁfﬂFﬁ{Armgant
(b) f&TH/Humble
(c) GW{UTIJMUI

(d) W{Suspicious
Options :
1.a
2.b
3.c
4.d



Question Number : 65 Question Id : 7715134360 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T & T8y Jad ° % a J@H. ... B %I!Careful is to cautious as bigheaded is

to

(a) ﬁfﬁfﬂFﬂ{Armgant
(b) & E/Humble
(c) wxlwful

(d) W{Suspicious
Options:
1.a
2.b
3.c
4.d

Question Number : 66 Question Id : 7715134361 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DH-T1 7Y ﬁrﬁ' 2 @l Ui W?Mhich one will replace the question mark'?’

5; 19 \\3 /_}\ 5 6' /2: \.4
[\ \ /TN
4 5 5

(a) 25

(b) 37

(c) 41

(d) 47

Options :
1.a

2.b

3.c

4.d

Question Number : 66 Question Id : 7715134361 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



-1 Y ﬁlﬁ 2 @l yfaeifig a3 ?/Which one will replace the question mark'?’

7 6
SHBAA
4 6 3

(a) 25

(b) 37

(c) 41

(d) 47

Options :
1.a

2.b

3.c

4.d

Question Number : 67 Question Id : 7715134362 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T dice Bt & gou (U T T 50 ¢, W I i 3 T 31 b It ¢ R §1 58
AU FOTU I1- 5oFT e Se} RU G  37

A bolt cutter has long handles with handle grips that are located as far away as possible
from the neck. Which statement provides the best reason for this design?

ld §50 i s Bl Y T §

Longer handles make the cutting blade move faster
%meﬁw%ﬁmﬁﬂ%a’\ﬁ SRR e b o e |

It provides mechanical advantage which allows cutting through thick bolts.

7 SRV B feae o 25w o 9 i YR gl

The appearance of the tool is significantly more aesthetic with longer handles

GG R GG R R G R D AGAR R N

It makes the bolt cutter more durable when dropped accidentally

(@)
(b)
(©)
(d)



Options :
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715134362 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

T e i o 0 [0 o WY T 550 ¢, o Seal Jial ¥ FoeT 31 weh ot g R €1 34
ST o eT0 -8 o R ST RV WG el 67

A bolt cutter has long handles with handle grips that are located as far away as possible
from the neck. Which statement provides the best reason for this design?

o) TS A e
Longer handles make the cutting blade move faster
" %Wwww%mﬁﬂ%aﬁﬁ SRR e (o 1 et 2|
It provides mechanical advantage which allows cutting through thick bolts.
0 o8 JUEHRY 1 eae od eoed o W A YR ¢
The appearance of the tool is significantly more aesthetic with longer handles
( BT 0 Y Tl e R 4 g i e e s &l ¢

9 It makes the bolt cutter more durable when dropped accidentally

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134363 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



I T 90 & (@ Yo 2 B dis (dls gfl) @l I8M & U @@ Teft Ud 10 Bie
(R gl) 1 W B, e @ did aM (Y @l g
If a member of the armed forces is using a pulley and 10 feet of rope (effort distance) to lift a load
2 feet (load distance), what is the mechanical advantage (MA) of the pulley?

@) 1
(b) 20
(c) 2
(d) 5

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134363 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e Y2Re 90 & U Yo 2 Bie dis (dis gl) @I I & U U Qe W 10 Bie
W (e gl @ W Bl 8, el @ ditd aY (THY) @l g
If a member of the armed forces is using a pulley and 10 feet of rope (effort distance) to lift a load
2 feet (load distance), what is the mechanical advantage (MA) of the pulley?

(a) 1
(b) 20
c) 2
(d) 5

Options :
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715134364 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



of dford & 9 dfey o did-g-did ST gl

All the offices on the 9th floor have wall-to-wall carpeting.

B o da-g-afa @ a1 E

None of the wall-to-wall carpeting is pink.

of #fvd & fodt ot orfaw & dia-g-dfa Frien o T 2l
None of the offices on the 9th floor has pink wall-to-wall carpeting.

ot Ugd § HH ol B, of U B ..., 2l

If the first two statements are true, the third statement is

(a) Wel/True

(b) TIcTd/False

(c) HHYd/Uncertain

(d) ST F/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134364 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

of dford & 9 dfey o did-g-did ST gl

All the offices on the 9th floor have wall-to-wall carpeting.

o W da-z-ata o TR T 3

None of the wall-to-wall carpeting is pink.

of #fvd & fodt o orfaw & dfa-g-afa el ot T 2l
None of the offices on the 9th floor has pink wall-to-wall carpeting.

M A PH TS, o SR ......... 2|

If the first two statements are true, the third statement is

(a) Wel/True

(b) TIcId/False

(c) HHYd/Uncertain

(d) ST /Al of the above

Options :
1.a
2.b
3.c
4.d



Question Number : 70 Question Id : 7715134365 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

. Y-/Statements:
wi oM @l I 3t %}’AII mangoes are golden in colour.
aﬁ§ @l ¥iF di i el %}'ND golden-coloured things are cheap.

ﬁﬁﬁfmonclusions:
(i) ol 9 g %’MII mangoes are cheap.
(ii) WTU Wi M O Tl %fGDIden—coloured mangoes are not cheap.

(a) HIE [i)'\EITE»pf %fDI‘Ih_.F conclusion (i) follows
(b) HIHA (ii)'\':lEpf %,r‘l:lnh_,r conclusion (ii) follows
(c) AT (i)ydr I:ii}lzl'bpl %fEither{'l]or{'l'l] follows
(d) T & (i) (i) gl &/Neither (i) nor (i) follows

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134365 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

. ®Y-/Statements:
gt 3 W@l I & %XAII mangoes are golden in colour.
ﬂ?llﬁ @l YA i T Tol %}ND golden-coloured things are cheap.

ﬁﬁ?ﬁfﬂ:onclusions:
(i) Wi oW I %{AII mangoes are cheap.
(ii) @l fF 9w Tl ngDIden—coIoured mangoes are not cheap.

(a) HIE I:i):\qfﬂ %fDnh,r conclusion (i) follows
(b) HIMA {ii)?lﬁpf %fDI'IhF conclusion (ii) follows
(c) AT (i)dr I:ii}lTEﬁ %,-’Either{'l]or{ii] follows
(d) T & ()7 (ii) & B/Neither (i) nor (ii) follows

Options :
1.a
2.b
3.c



4.d

Part II
SectionId: 771513202
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5
Number of Questions to be attempted : 5
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 771513202
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7715134366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i demel @1 WS 98 Bl Al Ugd ¥ G @ UM 2:3% aU g U IR @I 5:8,
it A gl

The sum of three numbers is 98. If the ratio of the first to second is 2 :3 and that of the second
to the third is 5 : 8, then the second number is:

(a) 20
(b) 30
(c) 48
(d) 58
Options :
1.a

2.b

3.c

4.d

Question Number : 71 Question Id : 7715134366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i demel @1 WS 98 Bl Al Ugd ¥ G @ UM 2:3% aU g U IR @I 5:8,
it A gl

The sum of three numbers is 98. If the ratio of the first to second is 2 :3 and that of the second

to the third is 5 : 8, then the second number is:

(a) 20
(b) 30
(c) 48
(d) 58
Options :
1.a

2.b

3.c

4.d

Question Number : 72 Question Id : 7715134367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fE e a wia

To which group does the figure belong?

0
x
00
0 0 o|e .To
Group A ool | I'E
0 |0 O | o o
Group B
@) A
(b) B

(c) T8 ATB /Neither Anor B
(d) I GHAI of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 72 Question Id : 7715134367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fE e a wia

To which group does the figure belong?

0
x
00
0 0 o|e .To
Group A ool | I'E
0 |0 O | o o
Group B
@) A
(b) B

(c) T8 ATB /Neither Anor B
(d) I GHAI of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 73 Question Id : 7715134368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e o o o ¥ el &2

which group does the figure belong?

ROOXOO
O# o0

L 0
(mOnCn

=3
o
s
=5
-

mCm
L
o

o 3

o
| -
||
B
- -

Group A :c,:

e g
o3
>
-

QOO.; O.Eﬂ 0
Group B nos Bl onoHlH " o
| 2008
(@ A
b) B

(c) €I ATB Neither Anor B
(d) ST THAI of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e o o o ¥ el &2

which group does the figure belong?

ROOXOO
O# o0

L 0
(mOnCn

=3
o
s
=5
-

mCm
L
o

o 3

o
| -
||
B
- -

Group A :c,:

e g
o3
>
-

QOO.; O.Eﬂ 0
Group B nos Bl onoHlH " o
| 2008
(@ A
b) B

(c) €I ATB Neither Anor B
(d) ST THAI of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W f95 (?) 9 cuid 82

What does the question mark (?) represent?

ez |~ 0m=| [T0X|—@®)~> [00F

rolate 90° clockwise replace first position with circle
A00|— [Aom] a0~ [O=I
change shade swap shade first and third position

? HOQO-0e1

"+ @ OX
oA O X

o | A @ >

o [@O =

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W f95 (?) 9 cuid 82

What does the question mark (?) represent?

ez |~ 0m=| [T0X|—@®)~> [00F

rolate 90° clockwise replace first position with circle
A00|— [Aom] a0~ [O=I
change shade swap shade first and third position

? HOQO-0e1

"+ @ OX
oA O X

o | A @ >

o [@O =

Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IH-T1 0¥ g *2' I HRRITT B

Which one will replace the question mark '

1 3
1 — —
2 2
2|8
213
3 ? 14
' 2
(a) 1/2
(b) 2/3
(c) 3/4
(d) 4/5
Options :
1.a
2.b
3.C
4.d

Question Number : 75 Question Id : 7715134370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IH-T1 0¥ g *2' I HRRITT B

Which one will replace the question mark '

wlra | ral—
a0

(a) 1/2
(b) 2/3
(c) 3/4
(d) 4/5
Options :
1.a
2.b
3.C
4.d

Descriptive



Question Number : 76 Question Id : 7715134371 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

lor AT a1 7 ST & Y aftiq et fafaio dediel & fou o w amg
UTa v U o e @) o @ 82 ) vy Sl eIl T ) U9 98 TRM s
uIREINEHIL

What is Additive Manufacturing? Explain with applications. What is the degree of
surface finish and dimensional tolerances achievable for a) Direct Energy

Deposition and b) Powder Bed Fusion based additive manufacturing?

Question Number : 76 Question Id : 7715134371 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

lor AT a1 7 ST & Y aftiq et fafaio dediel & fou o w amg
URTa v U o R @) Fof @2 ) ey Sl el v ) U9 98 TRM ot
o T

What is Additive Manufacturing? Explain with applications. What is the degree of
surface finish and dimensional tolerances achievable for a) Direct Energy

Deposition and b) Powder Bed Fusion based additive manufacturing?

Question Number : 77 Question Id : 7715134372 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



o gt T ) s T T €2 S o R v it o Sk 2
Why machining of Super alloys are considered difficult? What are the different

methods to overcome the challenges?

Question Number : 77 Question Id : 7715134372 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

o gt e ) s T T €2 G o R e o St a2
Why machining of Super alloys are considered difficult? What are the different

methods to overcome the challenges?

Question Number : 78 Question Id : 7715134373 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
TR Hiet T, el wa Sl o aul i) fobeel i TR o vl b T |
Explain alloys, compounds and composites with examples? Name any three

different types of composites?

Question Number : 78 Question Id : 7715134373 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
TR il Mg, 2! T Wl o1 9 3| g i W < i a T fere
Explain alloys, compounds and composites with examples? Name any three

different types of composites?

Question Number : 79 Question Id : 7715134374 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5



G-I T 3N T 67 Clig-pIa W 31 a1 o S Ul fafaey ool it o i
T A9 P g 3
What is Iron-Carbon equilibrium diagram? Draw the Iron-Carbon equilibrium

diagram and mark various phases, percentage of carbon and temperature.

Question Number : 79 Question Id : 7715134374 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Tle-PIa TR R 1 &7 Tlig-1a G NG bl fo 10 U fafdel <RIl rat @l vz
T A9 P g 33
What is Iron-Carbon equilibrium diagram? Draw the [ron-Carbon equilibrium

diagram and mark various phases, percentage of carbon and temperature.

Question Number : 80 Question Id : 7715134375 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

gt T G daeh 1 Uit ¢ W g R Tofa YR o et aferdl o ok o i
GUEE
Explain strengthening mechanisms in alloys and brief any four different types of

strengthening mechanisms.

Question Number : 80 Question Id : 7715134375 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

gt T Y Saeh 1 Uit ¢ W e R fofa YR o et araferdl & ok o i
GUEE]
Explain strengthening mechanisms in alloys and brief any four different types of

strengthening mechanisms.





